
Séquence de Nombres Linéaires (C)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. -269 -69 131 331 531 631Différence commune:2. 25 30 35 45 50 55 65Différence commune:3. 24 34 44 54 64 74Différence commune:4. 37 47 57 72 77 82Différence commune:5. -69 31 131 231Différence commune:6. 16 21 36 46 51Différence commune:7. 5 25 35 55 65Différence commune:8. -341 -41 109Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (C) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. -269 -169 -69 31 131 231 331 431 531 631Différence commune: 1002. 25 30 35 40 45 50 55 60 65 70Différence commune: 53. 4 14 24 34 44 54 64 74 84 94Différence commune: 104. 37 42 47 52 57 62 67 72 77 82Différence commune: 55. -169 -119 -69 -19 31 81 131 181 231 281Différence commune: 506. 6 11 16 21 26 31 36 41 46 51Différence commune: 57. 5 15 25 35 45 55 65 75 85 95Différence commune: 108. -341 -266 -191 -116 -41 34 109 184 259 334Différence commune: 75Mathslibres.com


